BT TRIA O - HEHHEE X T EFEJ'ZiGEOZH KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,654 87,147 41,697 45,450
RIRET1T 5 12 6 6
RIRET2T 25 53 25 28
RIRET3T 132 434 219 215
RIRET4T 387 993 484 509
B 549 1,492 734 758
REH 2,604 6,250 2,917 3,333
L&A 4,157 9,642 4,595 5,047
5E 2,476 6,016 2,922 3,094
5 WA 1,239 2,872 1,361 1,511
BERT 1,139 1,829 868 961
BER2T 769 1,512 710 802
BHERST 396 903 453 450
g 2,304 4,244 2,031 2,213
BARE 252 660 333 327
= 2,172 5,265 2,485 2,780
hERE 603 1,456 666 790
e 2,307 5,207 2,511 2,696
25 L ET 2,255 5,313 2,544 2,769
B &AL BT 70 159 64 95
HEFILET1T 589 1,324 624 700
HEFILET2T 593 1,380 656 724
HEZFILAT3T 573 1,357 660 697
g 1,825 4,220 2,004 2,216
B & it B Fr ET 651 1,598 783 815
BHEREBET1T 596 1,252 601 651
BHERERET2T 760 1,798 881 917
BHERERETST 771 1,703 783 920
HEFMHET4T 460 1,035 505 530
HEHFMHETST 795 1,684 804 880
HEHFHET6T 843 1,997 959 1,038
HEFRET7T 853 2,011 971 1,040
HERERETST 56 167 77 90
5| 5134 11647 5,581 6,066
HEF R FET 1,756 3,900 1,902 1,998
S|EFET1T 567 1,527 763 764
S|EFET2T 755 1,837 881 956
S|EFET3 T 727 1,489 710 779
g 2,049 4,853 2,354 2,499
ERE1T 545 1,331 642 689
EIRET2T 326 824 409 415
EREIST 467 1,331 650 681
EIRETAT 669 1,560 734 826
EIZEIST 473 978 487 491
g 2,480 6,024 2,922 3,102
MEH 2,735 6,269 2,953 3,316
J\THET1T 22 23 5 18
J\THET2T 24 62 31 31
J\THEI3T 60 134 63 71
B 106 219 99 120
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